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class LINEAR_CONTAINE}
create make

)

feature tribu
a: ARRAY [STRING]
feature 1er
count: INTEGER do Result := a.count end
get (1: INTEGER): STRING do Result := a[i] end
feature ‘ommand
make do create a.make_empty end
update (1: INTEGER; v: STRING)
do ...
ensure
across
1 |..| count as j
all
j.item /= 1 implies old get (j.item) ~ get (j.item)
end
end
end
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TEST UNT
inherit{ ES.TES
create make

feature - Add tests in cons
make
do
add boolean_case
end

socution of witihdraw feature")

s =X
create( % 2 (ake W aLan", 100
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class TEST _ACCOUNT
inherit ES _TEST
create make

feature - Add tests in constructor
make
do ll.ll l! |I
:
agent test_withdraw_precondition_violation)
end
feature - Tests

test_withdraw_precondition_violatié::::>
local

accy ACCOUNT

comment ("test: expected precondition violation of withdraw")
_ff>create {ACCOUNT} acc.make ("Mark", 100)
—-— Precondition Violation

-— with tag "non_negative t" is expected.
’@M acc.withdraw (( 1000000))
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non_negative_amount: amount > 0
affordable_amount: amount < balance

TEST_ACCOUNT

feature -- Test Commands for Contract Violations
test_withdraw_postcondition_violation

local
acc: BAD_ACCOUNT_ WITHDRAW

do
create acc.make ("Alan", 100)
-- Violation of Postcondition
-- with tag "balance_deduced" expected
acc.withdraw (50)

feature -- Redefined Commands
withdraw (amount: INTEGER) ++

recursor (amount)
-- Wrong Implementation
:=balance £

end




class ACCOUNT
create
- _ p— make
]es' m'{' (O/L (l/( Af(a\/\ P e feature Attributes
owner : STRING
balance : INTEGER
feature nstructors
make (nn: STRING; nb: INTEGER)
require precondition
positive balance: nb > 0
do
owner := nn
balance := nb
end
feature “ommands
withdraw(amount: INTEGER)
require precondition
non-negative.-amount: amount > 0
affordable_amount: amount <= balance problema
do
balance := balance - amount
ensure postconditior
balance-deducted: balance = old balance - amount
end
invariant class invariant
class TEST _ACCOUNT positive balance: balance > 0
inherit ES.TEST end
create make class
feature Constructor for adding tests BAD _ACCOUNT_WITHDRAW
m‘ﬁ(e inherit
(o]
add violation_case with tag ("balance_deducted", ACCOUNT
agent test_withdraw_postcondition_violation) redefine withdraw end
end create
feature Test commands (test to fail) make
test_withdraw_postcondition_violation 1 , ,
local feature - redefined commands
acc: BAD_ACCOUNT._WITHDRAW withdraw (amount: INTEGER)
do do
comment ("test: expected postcondition violation of withdraw") Precursor (amount)
A\l A\l ' '
create acc.make ("Alan", 100) -— Wrong implementation
Postcondition Violation with tag "balance _deduced" to occur. -
acc.withdraw (50) : balance := balance + 2 % amount
end end
end end




